;’ CE-TRA-37B - Bottomless Side Belt Transfer Conveyor - PARTS LIST
— | 2
'(l, ) i) .
| %
7
S
ITEM QTY PART NAME DESCRIPTION
1 1 BASE ASSEMBLY SEE BELOW
2 4 BC-001-02 ADJUSTING ASSEMBLY
3/4 2 MOTOR MOUNT ASSEMBLY SEE BELOW
5 4 BC-001-00-05 SPACER
6 4 921A 5/16 -18 SS SCREW
7 4 918A 5/16-18 SS NUTS
8 12 9218 5/16 LOCK WASHER
9 8 922A 5/16-18 SS SCREW

Page 1




CE-TRA-37B - Bottomless Side Belt Transfer Conveyor - PARTS LIST

ITEM QTY PART NAME DESCRIPTION
1 2 GLOBALOS MOTOR MOUNT TOP PLATE
2 2 BC-001-03-02 SPACER BAR

3 2 BC-001-03-03 WEAR PLATE

4 2 BC-001-03-04 OUTSIDE SPACER

5 2 BOTTOMLESS1212-37 BOTTOM PLATE

6 2 TIMING PULLEY TIMING PULLEY

7 2 N2227 BOTTOMLESS MOTOR

8 2 IDLER IDLER

9 2 TIMING BELT TIMING BELT

10 21 929A 10-32 X 3/8” SCREWS SS
11 1 929B 3/8-16 X 2” SCREWS SS
12 1 926A 3/8-16 HEX NUT SS

13 1 966A 3/8 FLAT WASHER SS

14 1 929C 10-32 X 1” SCREW SS

15 2 902A 10-32 HEX NUT SS

16 4 929D 10-32 X %” SCREW SS
17 4 966B #10 FLAT WASHER SS
18 4 921C #10 LOCK WASHER SS
19 2 1150 STRAIN RELIEF GROMMET
20 4 922B 5/16-18 X %” SCREW SS

Page 2



A%

CE-TRA-37B - Bottomless Side Belt Transfer Conveyor - PARTS LIST

ITEM QTY PART NAME DESCRIPTION

1/2/3/4 1 SET BOTTOMLESS SKIRT SIDE PANELS OF FRAME

5 1 CONTROL COVER SPEED CONTROL COVER

6 4 LEVELING FEET LEVELING FEET

7 4 SQR TB END 5/8 SQUARE TUBE END INSERT

8 53 975A 1/8 RIVET NUTS

9 4 929A %-20 X 1” SCREW SS

10 SPEED CONTROL VARIABLE SPEED CONTROL (NOT IN

IMAGE)

Page 3




